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1. The change in position from the solid figure to the dotted figure is best described as a

L2

17

<

tE: 5 BERRBRERE
24
< 7
N P
191
@e[‘leclion b.rotation c.translation  d.dilation

2. Which picture shows the flag rotated about the origin?
a. e

.....



4. A point P has coordinates (6, -4). What are its new coordinates after point P is reflected over the y-

axis?
a. (6,4) b. (-6, 4) c. (6,-4) d) (-6, -4)

Ruie for Yo%t (xY) > (x.y)
(,bl-q) K (-bl -4 )

5. What is the translation image of (-3, -6) after the translation (x, yj — (x+4,y+3)?
a. (-7,-9) b. (1,-9) c. (-7,-3) ((_J) (1,-3)

(Y3 (3+44,-643) > (1,-3)

6. Identify the coordinates of (-5, -3) aftg_r\ a 180° counter-clockwise rotation about the origin.
8 a. (-5,-3 b.} (5,3 c. (-3,-5 d. (5,3
Rute for 18071 (%Y )2 (-x,~y ) ( ) (-/( ) 3. ¢ )

(-5-3)9 (5,3)

7. Identify the r.:nordinalciq of (10, -20) after a 270° counter-clockwise rotation about the origin.
. ay-20,-10) b.(10, 20) ¢.(-20, 10) d.(-10, 20)
Ruie for 2100 (A, 4) 2 (y, X) C’

(10,-20) > (-30,-10)

8. Identify the coordinates of (-1, 3) after a 180° counter-clockwise rotation about the origin and then a

came as =7 90° clockwise rotation about the origin.
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9. What is the pre-image (the original location) of the image (-2, 3), if it was translated by the
coordinate rule (x,y) =» (x +5,y — 1)?

do the oppastc operahons: (-a-5, 3+1)
:\ ('1| q )
10. Write the rule for the translation that shifted (8, -2) to (1, -7).

Y-values: § v 4 X-F }
y-vawues: -3to -7 y-5 ), _(X-‘A)ﬁ(vkﬂ,g—il

11. What are the three congruence transformations, and why are they called that?

Rotranong, Reflechons and Transiahions because they remain the same
sie and shape



12. Draw the figure rotated about the origin 90°. 13. Draw the figure translated by

(vy) 2 (-yx) (x,9) > (x + 2,y = 3)
11 ¢ (x2,9-3)
(1,1) 2 () - (ha) 2 (1,1)
1L B 7 (4) = ()
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14. On the grid provided, draw the reflection of AABC in the y-axis and then translate the function using
the rule (x,y) = (x-3,y—-2).
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